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Paper : ECOO2OO104

( Basic Elements of Economics )

Futl Marlcs : 60

Time : 2Yz hours

The Jlgures in the margin indicate
full marks for the qu,estions.

Answer either in Engtish or in Assamese.
'

1. Answer the following: 1x8:8

sq{Grr{{ Ew fr{ s

(a) Distinguish between primary data and
secondary data.

$qfrs Eql' W+ (fi"t sql< {eFsJ fr"ltr

,. (b) Give an example of a study where
complete enumeration cannot be
undertaken.



q"I{uf.|-+t rc< GtcqRI qs \n$}F{:r ebt tsnRq.t
frst r

Define 'coefficient of variation,..

'efq:{6i ef$k qi@t fi$ r

Fisher's index number is a weighted
index number. (Wite' ie or fatse)

ftut<< Tu-$frc tE eo et$gw 1rs {rlll t

Obr cq frDt frq,
What measure of central tendency is
used to calculate the HDI ?

HDr rt6t{t sR-tE 6<rfir er{e ron6t $q
<l{-qf-{ s-<l qr ?

A Define economic growth of country.

q$r 6q$r qcft{&s 
1fr-< Xet fru r

(g) Give an example of an informal financial
systeln participant.

wi(trfttr k6r <r-sEK q(ftn<< eDt Eqr<q
frrtr

(h) What constitutes the primary sector of
an economy ?

q?F qamG< arqfr-+ qsdf ftR1q afts Enr
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(c)

(d)

2. Answer ang sdx from the following
questions: 2x6:I2
EEi{ frrq^trqt ryFf am Vw fr"ff s

(a) Distinguish between a parameter and
a statistic.
'qfE-q' q.F$, 'qIEE\ {qFsI fr<t r

(b) How is the median calculated for a
cqntinuous series ?

ebr qfi&{ srfi< {$qr frqc< folq Gt q{?
(c) Why is index numbers said to be

economic barometer ?

Im {rlll-s Rw qqfrk Dt'Nl{ !q fi rrct qn?

(d) Define the term .sustainable.
development' as under the Brundtla'nd
Report.

'Brundtland Report'e qffi ?qS{UfiH'
{t<"fl-6rc qiqf fixt r

(ei Mention two d,Emerits of per capita
income as a tool of *.""riirrg
development of a country.
..qfi cq*r< U{r-d< {f"ffi furrq q+UR qm<

fAqTR{i fr{'rr
A What were the three basic indicators of

human development before 2OlO?
2oto < t3{ trq< U*x-m T$ 1D-$ ffiA_fr- wfur

(e)
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Define GDp.
cDP< q(Bt fr$ I

Differentiate between labour forceparticipation rates and'workforce
participation rates.
ffi{& qi,ffiE qf{ qK, sfcifu vi.ffi.p-q
EI{-{ "iBfsJ fr{s Gr r

3. Answer ang four from the following :

Eq{ 'K[ fureqrDlffaku-sq fr.rt z 
5x4=2o

(a) State one advantage and one limitation
of the arithmetic mean as a measure
of central tendency.
A contractor employs three types ofworkers:-skilled, semi_skilled 

".riunskilled. To a skiiled worker, t. p"V"
Rs. 500 per d"y, to a seml_stcitted
worker R;. 4OO per day and t; ;;
unskilled worker Rs. 300 p., a"1. O"
a typical day, if the contraCtor emploSrs
15 skilled, 20 semi_skilled and iO
unskiiled worke-rs, find out the aveiage
daily wage paid by the contractor.

2+3=S
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(t)

(i)

(g) What.is a financial system ?
fi€r <r-{Er frr

(h) State the components of a financial
system.

ffi GEK q$r-FFr B-m{ Gf r

crfir er1fu $"r Rflc"r rffAfu tv< qDi$rt
q<r, €Bf \n{R{t fr<tt r eqq fr-flqlrq qq', frR-
qs \sF$, qq$-qQffiql<rd-{ qfr-$ frcirtat $-m r

rrcd eql qrr- uffro-$ Sfefrn coo fu, qq4
ftfqs qfrm qfefi({ 8oo }E1qFF qq{ qRiF
qfrffi sfefrc{ .loo }E[ qqR frrr I qs fim
fr{s {fr fr-okT<BTrq )c q-{ q-s, io ca{
ft*q'F qfi, )o q-{ qq?m, qfi-s frmtat <rm,
fi$Trrcqcr qrqm fut anv hRo wrR fut"r Gr i

(b) Discuss the steps of construction of
consumer price index number.
dl,s w w-s q(?lil erqs c{Fr w{cTl<r <If?uI
GIII

(c) State fito limita.tions of price index
number.
Calculate price index number for 2O2O
from the following data: 2+3=5
q< W-s qHl^K filfiTl<a-et frrtt r EE<r Ec5<

'l-{t 2020-< q< {F-S q($.t fl"m F{t s {

Commodities
6{Ndl

A
B
C
D
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Price/E<t

Rs. per unit/Bot
20LO

q]Erfls

2020
15
25
60
50

10
20
50
40
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(d) What are the core values of economic

development ?

q?ftil&-s Ufl-d< X<r lqrc{< fta

(e) Briefly discuss the essential
components of human development.

xlq<E-{T-{< al-T&rftT sIsFr<F{ ffi<ntu'ts't t

A Discuss the role of Purchasing Power:

Parity (PPP) in international finance.

qrsdBo Re<raqrs aantk qrrl-st (PPP)-

< Vfr-$t <rt{rl Gtt

How do banks make profits ? Discuss.

Firs (scfrs Els E"[sf{ s-F? <It{]'t ffit I

What are the causes responsible for

the unfavourable sex ratio in India ?

qre-<tr q1u-{ fiq qa"Ps< sr<"lmr< fr ftt

(g)

@
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tuto4.

(a)

Answer ang
questions:

from the following
lOx2:2O

s?i<r otKIiFr "61 fr6q21a raB E-s< fr<r s

(b) What b,re the different
dispersion ?

Discuss the steps in a sample survey.
Elaborate on the stratified random
sampling method using suitable
example. 5+5= 10

roffi qflit

(c) Explain
Index is

how Human Development
measured in India.

Contd.7

sFrsn{{frH< w-<tnr< <ilqrf sEf I UqTB tsn<q<

mrs s31e, {@ SEq..f q'ftsl <"fil ffitt

Calculate standard deviation
following date:

2+B:10

from the

Ruqffi frfun- EI"I(.<|< ft ft? s4q tra{K 'Fr
$Tffrs RD-{q aq-{ ffit z

Profit(Rs.Lakhsf O-1O iO-20 20-30 30-40 40-50 50-60
qrs (dl{ Fcto)

No. of Companies 12 L7 23 39 16 03

measures of

vr<-u<6 qta< Esflrd{E-$ ftqr< qGmq cil qr
<.fqt mlr
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(d) Discuss the functions of a financial
system.

ffi <lrEK srdlmr< Trql.t Grrt

(e) Discuss the main features of the Indian
economy that indicate the low state of
development in the country despite the, i*pressive growth rates especially in
the last decide.

ftHr.c RrE qrr$s qtwfr lk-< q< q.€€
w{s:Ets-{r4{fra waqt WFRI qq{ tEftElr<K
qIGIID;II GII I

1 (Sem-2)ECo/c 8 13OOO


